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1150 F/RET—T B 0 163
1160 F/RET—T B 0 200
1170 ;5 7KHET 0 144
1180 BB&ALHET 0 219
1190 #&FAHT 0 160
1200 XFHEI—TH 0 114
1210 XFHEIZTH 0 145
1220 #rHET 0 125
1230 #EHET 0 134
1240 ZEHT 0 125
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1250 fEEHET 0 135
1260 B @ 0 39
1270 EEHT 0 123
1280 FRAEHT 0 146
1290 $RHET 0 142
1300 & ZEHT 0 123
1310 RILGHT 0 62
9999 KM XET 1 7120
1510 AEHD_E BT 0 691
1520 HEHTHET 0 645
1530 HE#FTHT 0 335
1540 K{g3HT 0 519
9999 HEMIE X &t 0 2190
2010 Z EERHET 0 201
2020 %= EFaHET 0 265
2030 SE0HT 0 19
2040 :ET—TH 0 197
2050 MBET=TBHB 0 179
2060 #5FET 0 45
2070 FxEBT—TH 0 233
2080 +RETZTH 0 181
2090 i AT 0 1574
2100 hiLHT 0 263
2110 }EWETET—T B 0 245
2120 HEWIEET—TH 0 270
9999 ZERXET 0 3672
2510 ¥AZHET 0 2043
2520 Sk hEMT 0 1382
2530 =/MEHET 0 360
2540 FHi5HT 0 401
2550 ;HHET 0 229
2560 = EHT 0 856
2570 K EHT 0 82
9999 MER X ET 0 5353
3010 X#FHT 0 920
3020 ;ELiTHT 0 912
3030 _EEFHT 0 761
3040 & _LET 0 134
3050 R AT 0 2172
3060 HESTHT 1 438
3070 HBREHT 0 432
3080 HH AT 1 378
3090 H A EHT 0 396
3100 HHFHHET 0 456
3110 EHeALHT 0 392
9999 /\ FERX &t 2 7391
3510 £/F LHT 0 167
3520 27 T 0 338
3530 2R THT 0 946
3540 Z= B KHET 0 361
3550 AEFHT 1 760
3560 &= T ERAT 0 267
3570 & T AT 0 721
3580 F|LIFrHT 0 549
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3590 EHT 0 11
9999 S HKXEt 1 4120
4010 21| RET 0 303
4020 {E&HT 0 87
4030 5HT 0 234
4040 = HEAHT 0 198
4050 7K EHT 0 398
4060 E5Z4 HAT 0 355
4070 JtJRHET 0 164
4080 =;T;HAMT 0 217
4090 55 jERHT 0 330
4100 g FFOAT 0 140
4110 JtFFET 0 151
9999 &M XET 0 2577
4510 EREE—ZEHT 0 701
4520 EREE—ZEHT 0 163
4530 EREE =Z5HT 0 161
4540 EREEIUZEHET 0 118
4550 EREE R ZHT 0 127
4560 EREE/NEHET 0 75
4570 EREEHZHET 0 107
4580 EREE/\ZFHT 0 83
4590 EREE N ZEHT 0 97
4600 AR+ ZHT 0 107
4610 EREE+—ZHHT 0 114
4620 B+ —FHET 0 201
9999 AREFERXET 0 2054
5010 BBF0 H EET 0 188
5020 RRF0BAELET 0 145
5030 RRF0[RI{—HT 0 177
9999 RRFIMXET 0 510
5510 b R HET 0 208
5520 = HhHET 0 581
5530 FA=HT 0 446
5540 wy ZERT 0 255
5550 AT 0 72
9999 iR X &t 0 1562
6010 FEIHET/MER 0 95
6020 [EHET o 0 114
6030 FEIRT &I 0 87
6040 Bz FFHT 0 207
6050 JI|EBTER 0 144
6060 JI|EHATF 0 119
9999 FEERXET 0 766
6510 HZEAFBHET 0 24
6520 H &= A KIEHET 0 180
6530 HZEAFTHET 0 113
6540 HZEAILUTHT 0 150
6550 B =AM 2 NET 0 74
6560 HZEAIEILET 0 120
6570 H R AIEFHT 0 117
6580 HZAEKMET 0 71
6590 HZEARKMET 1 36
6600 B Z A HHT 0 65
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6610 HEA L FGHT 0 51
6620 HZEAF T 0 36
6630 HZE AT FHET 0 85
6640 HE A EitslT 0 37
6650 B ZASHET 0 3
6660 HZ A RLHET 0 20
9999 HEAKRXE 1 1182
7010 Z B MO ET 0 156
7020 — R AHT 0 237
7030 — R FR#AHET 0 88
7040 — BT KEFHT 1 182
7050 — R 7 H I ET 0 103
9999 — R&XEt 1 766
8011 SRAETFGHERLY 0 56
8012 IR AHTFHERA 0 128
8013 Y AHTFEER (& 0 73
8021 R AHETZFEKLY 0 78
8022 IRAHETIEKA 0 4
8023 IR AHTIEKIL 0 4
8031 IRAHTH ALY 0 144
8032 IRAHTHAA 0 12
8033 IRAHTH AL 0 23
8041 JRAHTELIZL 0 54
8042 R AHETELIFA 0 27
8043 IR AHTELIR L 0 16
8044 YR AHETHELIFIZ 0 23
8045 IR AHTHLIR (X 0 39
8050 IR AHT A 1 134
8060 IR AHTFT 0 118
8070 AHTER 0 109
8080 Ik AHT &k 0 47
8090 I AHT i E 0 48
8100 JRABIH/{% 0 10
8110 IRAHTJII 5= 0 36
8120 R ARHETERER 0 72
8130 JRAHETH Lt 0 76
8140 IRABTEFRKT 0 121
8150 IR AHTEFRK L 0 87
9999 IRARK X ET 1 1539
9010 F THTRKEH 0 577
9020 FTHTEF E A 0 394
9030 FTHT#HZEH 0 1169
9040 F THTHERRH 0 1306
9999 FT#XEt 0 3446
9110 SFET T HIE 0 508
9120 $RATH L 0 223
9130 fRETH B 0 148
9140 SFEET T4 1 412
9150 $RHET Li5 0 484
9160 SRHETER4T 2 723
9170 $ERTAH 0 857
9180 FRMETER 1 534
9190 #EHRTZ O 0 215
9200 $EHTEFIH 0 218
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9210 $RAT = H 0 367
9220 SEETHH 1 564
9230 $EHTE M 0 664
9240 $EHETIEE 0 278
9250 SEHETALFrith 0 550
9999 FEXET 5 6745
9310 E[FHET:AR 0 193
9320 E[ZHETAL 0 241
9330 FE[AT/INE 0 157
9340 R [ZHTRY 0 388
9999 H[G#HXET 0 979
9410 RETT & 0 380
9420 RHETHHE 0 228
9430 RETFER 0 146
9440 RETAEF 0 13
9450 RHETHEIR 0 21
9460 RET{_HE 0 33
9470 RETER 0 7
9480 RHETHER 0 63
9999 RixXEt 0 891
99999 &t 12 58846



